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Perform the operation. Write the answer in standard form.

(2-10)+(15+16))
a. 6+17i c. 17+6i
b. -8+31i d 13+6i
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Perform the operation. Write the answer in standard form.

(13+17) +(7-8)
a. 9+20i c. 30-i
b, 20+9 d —-6+9i
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The height y (in feet) of a dodgeball 7 seconds after it is thrown can be modeled by the function
y = —16¢* + 641+ 3. Write the function in vertex form. Then find the maximum height of the dodgeball.

y=-16(t+67)" —4; 4 ft c. y=—16(t+2)" +67; 671t

a.
b, y=-16(z—2)" +67; 67 ft d. y=-16(t-2)" +67;2 ft
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The height y (in feet) of a dodgeball 7 seconds after it is thrown can be modeled by the function
y = —161* + 128t + 3. Write the function in vertex form. Then find the maximum height of the

moamnvmp
a. y=-16(z+4)7 +259; 259 ft c. y=-16(r+259)°—8; 81t
b, y=-16(r—4)" +259; 4 ft d. y=—16(1—4)" +259; 259 ft
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Find the discriminant of the quadratic equation —x +4 =—2x> and describe the number and type of

solutions of the equation.
a. 31; one real solution
b. 31; two imaginary solutions

c. —31; two imaginary solutions
d. —31; one real solution

red by
mxw:..s.mmw

Find the discriminant of the quadratic equation —* — 12x —28 = 0 and describe the number and type of
solutions of the equation.

a. —32; two imaginary solutions c. 32; two imaginary solutions

b. —32; two real solutions d. 32; two real solutions
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Solve the system.

y=(x-2"+3
y=3

a. (2.-3)
b (-2.3)

(23)

d (-23)
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Solve the system.

y=x-7

y=05(x-7)°

a. (7.0)and(9.2) c. (9.0)and(7.2)
b. nosolution d. (—7.0)and(9.2)
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Solve the system.

‘e.HHM -x—6
y=x-2

a. (4.6)and(1.4)
b. nosoltion

c. (4.6)and(-1.4)
d. (4.6)and(-1,—4)
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Solve the system.

y=x>—6x+9

y=—x+5

a. (—4.1)and(1.-4)
b. (4.1)and(1,4)

c. (4.-1)and(-1.—4)
d. no soltion
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Solve the system.

y=2%"+3
y=x+2

a. nosolution
b. (0.3)

c. (4.6)and(1.4)
d. (4.6)and(-1,—4)
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Solve the system.

(x—6)

=
[l

=’ +12r—34

=
I

a. no solution

b (5.1)

c. (L5)and(1.7)
g.?caaﬁb
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Graph the system of quadratie inequalities.
yrxi-x-3
vy —x+d

a
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Graph the system of quadratie inequalities.
Frxt4r-2
y<-kt-Z+3

a
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1 +10x>-21

(target: Graph quadratic inequalities in two variables. Solve quadratic inequalities in one variable.)
a. —T<x<-3 c. x<—TJorx>=-3
b. x<3orx>7 d 3<x<7
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812

(target: Graph quadratic inequalities in two variables. Solve quadratic inequalities in one variable.)
a. x=—6orx>-2 c. 2<x<6
b, 6<x<2 d x<2orx>6
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2 allxe24 Solve the equation. M
&
(target: Graph quadratic inequalities in two variables. Solve quadratic inequalities in one variable.) x4+ 12x+36=81 @
a. x<-8orx>-3 c. x<3orx>8 a. x=-15iand x =3i c. x=—15andx=3 W
b. 3<x<8 d 8<x<-3 b. x=45 d x=-3andx=15 .m
2
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Solve the equation.

x% + 16x + 64 =36
a. x=—l4iand x=-2i c. x=—14and x=-2
b, x=-28 d x=2andx=14

Solve the equation.

2552 +30x+9=1

2 4
a x=3% Eaa|w

c. x=——7andx

d x=-—-andx
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Solve the equation. Solve the equation. M
®
4x? +20x +25=-5 x(x+8) =-20 @
. a. x=-4%2 c. x=4%2 3
—S5+af5 —Sxiaf5 <]
a o325 N £ b x=4116i d x=-4216 £
2 2 £
b x=-5iaf5 d x=-522iaf5 g
s
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Solve the equation.

xx-T)=2
—T+ 457
a xXx=———F
2
—T+i~f57
box=T

Solve the equation.

x(x-13)=4

_ 13+i4/185

a. x= 3

b. x= 3

13444185
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‘What is the graph of the equation”
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y=-xt-2x+2
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‘What is the graph of the equation”

y=k+d+2
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‘What is the graph of the equation”

=k +2+3






